(RN
<

3

e c
< 8 Lioioioioi
o ©
Bf e}
RPN I I B D
s I :
12 [ [
N R AR LR ] 4 —
0.95L ; : : : 0.95L ; : ; :
=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2
TP n (PCA to beamline) TP n (PCA to beamline)

— IJ IVI Ul IIIdI ble I.J.lU U !:‘ld DLU4

—— B %e —5‘1%8%8 R

—— BoM- 5{ {020 eta E

—— DOQMT] | erlc step2 pllto 0_eta2p5to4p0
€ IS
e c
'c} [T e o> oo e
2 =
<1 I S U N AU S ©

-1 0 1 2

3

n=
g

-
o
8 .
S :
01053} | I B |

IS r :
2 L

1_— --------------------------------------------- *
0953=5—1 0 T2 3

TP n (PCA to beamline)

-1 0 1 2

3

TP n (PCA to beamline)



	Contents
	Page 1


